297mm

& FANTECH How To Use

4. Sedentary Reminder Screw List
To turn on the reminder setting: $1 52 $3 $4 $6 §7
@ @ * Pressthe * 7 " button to turn on the sedentary reminder, then Kﬁa /\\ /\ ﬁ @ @ %@]ﬂ
press it again to change between "r30/ r45/ r60", representing 30 émm_ x1|[3mm_ x1][smm__ x1]|M8*16 x12||M&12 x4 x3 x4
@ @ @ @ minutes/45 minutes/60 minutes. s8 s9 F
* Choose one of the time options "30/45/60" according to your % f

own needs by pressing “ - " button. After choosing, you don't

s1
S8
M4*14  x22| |[M8*25  x1 \*‘“

WS414

WorxkSTATION

. Position Reset

Unplug the power cable and motor cable and re-plug in.

Press and hold the * O " button for around 3 seconds until the
controller “ --- " and then release the button.

After that the desk will automatically drop to the lowest height,
rise to the maximum height, which means the initial setting was
successful.

. Raising and Lowering the Desk

Press the * A " button to lift the desk, and press the * /"
button to descend the desk.
Press the * /A " button for 3 seconds until the screen flashes

need to press any other buttons, and then wait until the screen
is furned off. which mean the innitial setting is successfully.

* When the selected reminder time is reached, the display will
flash “Chr” for 1 minute.

* After 3 consecutive reminders at 5 minutes intferval and the
table is not used, the screen will automatically turn off.

To turn off the reminder setting:

* Pressthe " - " button; when the screen displays the digital
height, which means the reminder is turned off.

* In the sedentary reminder state, you can press the * A " or
“ V " button to adjust the height, and the sedentary reminder
will restart the countdown.

Part List

X2

&l
ol
x

«l| M4*14

x18

Step 3

Bx2

ADJUSTABLE RISING DESK

g
N

and release the button; then the desk will automatically rise to
the highest position, and press any button to stop halfway.

* Pressthe " ¥ " button for 3 seconds until the screen flashes
and release the button; then the desk will automatically

Catatan: descend to the sitting position, and press any button to stop
. Input: AC100~240V / 50-60Hz. halfway.
2 . Operating Temperature: 0~40°C

x1 x1

After the table is installed, press and hold for 3 seconds
the “O" button to start the calibration, and the table will
automatically drop to the lowest point of the table, then
rise again to the highest point and then return to the
initial position, indicating the installation process has

210mm

. After the WS4 14 assembly is finished, please press the “@© " button before using it (see No.1 Position Reset).

. Before use, please check whether all the cables are fully connected.

. Keep children away from the adjustable rising desk and control units. There is a risk of injury and electric shock.
. Keep all electrical components away from liquids.

. Do not use any damaged cable or electrical parts, as it may cause electric shock and injury.

. Do not open any of the components (riser control box, legs, or motor). There is a risk of electric shock.

. Do not attempt to open or repair the components. Use only manufacturer supplied components and cables.

. This is a heavy product and not suitable for frequent moves. it requires at least two people when moving it.

. Please handle with care and avoid any injury.

. When the table is risen or descended, there is a slight jitter, which is a normal phenomenon from the transmission

3. Height Memory Setting
* Adjust the desk height to your desired standing position.

e Pressand holdthe " & "or
it means the height memory setting is successful.

To go to standing position memory height:

Pressthe * | " or" ‘& " button, and then release the button,
and the desk will automatically rises or descends to the memory

& " button; when the screen flashes,

Step 4

been completed.

structure because of the sudden activation and does not affect its service life.

height position. Press any button to stop halfway.

.[:E_
AeH
5

5mm x1]| Mé*12 x4

Scan barcode to watch the .
O LonD USER MANUAL calibration and full assembly video. u &.IIJIlI' "

PAGE 1 2 3 4 5 6 7

www.fantechworld.com

p FANTECH

Cara Penggunaan 4. Pengingat Berdiri Daftar Baut &
Untuk mengaktifkan pengaturan pengingat: §1 $2 §3 4 $6 §7
@ @ e Tekan tombol " = " untuk mengaktifkan pengingat berdiri, \%% /\ /\ ﬁ m @ i\g
lalu tekan lagi untuk mengubah antara "r30/ r45/ r60", yang émm___ x1] [3mm___ x1|[5Smm___ x1] [M8116 x12][Mé112 x4 x3 x4 e
@ (0 (O (& merupakan 30 menit/45 menit/60 menit. 58 59
* Pilih salah satu opsi waktu "30/45/60" sesuai kebutuhan Anda % f o S8
dengan menekan tombol “ 7 ", Setelah memilih, Anda tidak mers x22| lweeas o1 L

1. Pengaturan Ulang Posisi perlu menekan tombol apapun, lalu tunggu hingga layar mati. omm__x1 % $1

Cabut kabel daya dan kabel motor lalu colokkan kembali. yang berarti pengaturan berhasil disimpan. sé _
e Tekan dan tahan tombol * O " selama sekitar 3 detik sampai o Ketika waktu hitung mundur habis, layar akan menampilkan Daftar BaUt @ M4*14  x18 ;j” =

kontroler * - - - " kemudian lepaskan tombol. “Chr" selama 1 menit. C 8 ﬁ
* Setelah itu ofomatis meja akan turun ke ketinggian terendah, e Setelah layar menampilkan pengingat selama 3 kali berturut- 2 Mgt x8

naik ke ketinggian maksimum yang berarti pengaturan awal turut dengan interval 5 menit dan meja tidak digunakan,

berhasil. layar akan mati secara otomatis. Y

WS414 . . Untuk mematikan pengaturan pengingat: & ) 8 - By
2. Menaikkan atau Menurunkan Meja e Tekan tombol “ -r ", saat layar menampilkan ketinggian X2 x @
WORKSTA TION e Tekan tombol “ A " untuk menaikkan meja, dan tekan tombol digital, yang berarti pengingat dimatikan.

! kV ! ;JnTUg rlnenurunklon mij?j- e | oo * Pada saat pengingat berdiri aktif, Anda dapat menekan @

* Tekan fombol “ A " selama 3 detik hingga layar berkedip dan tombol * A " atau * V" untuk menyesuaikan ketinggian, dan
ADJU S TABLE RI S IN G DE S K lepaskan tombol; maka meja akan otomatis naik ke posisi hitungan mundur akan memulai ke%bgn dari GWngg E

tertinggi, dan tekan tombol apapun untuk memberhentikannya. 1 W

e Tekan tombol “ \V4 " selama 3 detik hlnggc onor berkedip dan Seielfzh meja 1erpasar.19, 1'ekan.iombol Q sel‘cmq
Catatan: lepaskan tombol; maka meja akan otomatis turun ke posisi S el amiukememuel Kallbrash kemucen el
. Input: AC100~240V / 50-60Hz. duduk, dan tekan tombol apapun untuk memberhentikannya. lalu naik lagi ke fitik tertinggi, dan meja akan

. Suhu Pengoperasian: 0~40°C
. Setelah perakitan WS414 selesai, silakan tekan tombol “©)” sebelum menggunakannya (lihat No.1 Pengaturan

Ulang Posis). 3. Pengaturan Memori Ketinggian

. Sebelum digunakan, harap periksa apakah semua kabel sudah tersambung sepenuhnya. ¢ Sesuaikan keTinggion mejo ke posisi yang Anda inginkon.
. Jauhkan anak-anak dari meja angkat dan unit kontrol yang dapat disesuaikan. Ada risiko cedera dan sengatan

listrik. * Tekan dan tahan tombol *“ & " atau “ & "; bila layar berkedip
A

kembali ke posisi awal yang menandakan proses
instalasi telah selesai.

Langkah 1

A

Langkah 4

. Jauhkan semua komponen listrik dari cairan. berarti pengaturan ketinggian memori berhasil.

. Jangan gunakan kabel atau komponen listrik yang rusak karena dapat menyebabkan sengatan listrik dan cedera. x1
. Jangan membuka komponen apa pun (kotak kontroler, kaki, atau motor). Ada risiko sengatan listrik. Untuk menuju ke posisi berdiri tinggi memori:
. Jangan mencoba membuka atau memperbaiki komponen. Gunakan hanya komponen dan kabel yang disediakan woL . .

bk P F yaKome yand Tekan tombol * F " atau * & ", lalu lepaskan tombol maka meja
. Meja ini adalah produk yang berat dan tidak cocok untuk sering berpindah-pindah. Membutuhkan setidaknya dua secara otfomatis naik atau furun ke memori posisi ketinggian, lalu Dx2

orang saat memindshkannya. tekan tombol apapun memberhentikannya.
. Harap tangani dengan hati-hati dan hindari cedera. s4
. Saat meja dinaikkan atau diturunkan, terdapat sedikit getaran, yang merupakan fenomena normal pada struktur @

$ 0

transmisi karena pengaktifan mendadak dan tidak mempengaruhi masa pakainya.

u,

» S9 L S3 K S5 .
M8*16 x4 ~ ) S '
0 s1 5mm x1][Mé*12 x4
80 . ‘ : .
PANDUAN PENGGUNA om | | M8%25 Pindai barcode untuk menonton

MAXIMUM LOAD —_ video kalibrasi dan perakitan lengkap.

www.fantechworld.com




